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DIPLOMA IN WATERSHED 

MANAGEMENT (DWM) 

Term-End Examination 
June, 2023 

BNRI-102 : ELEMENTS OF HYDROLOGY 

Time : 2 Hours     Maximum Marks : 50 

Note : Attempt any five questions. All questions 

carry equal marks. Use of calculator is 
permitted. 

1. (a) Explain hydrologic cycle along with its 
different components with the help of a 
neat sketch. 5 

(b) Explain the forms of precipitation. 5 

2. (a) Explain rainfall intensity-duration-
frequency relationship. Write its 
importance in water resource projects. 5 

(b) Explain the term “water budget”. Write 
different characteristics of water balance. 5 
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3. (a) Define time of concentration and write its 
complete equation. 3 

(b) Explain Rational method of peak runoff 
estimation and write its assumptions. 5+2 

4. (a) Explain field water use efficiency and crop 
water use efficiency. Calculate water use 
efficiency when five irrigations of 12 cm 
each were applied to rice crop which 
yielded 10 tones per ha. The consumptive 
use during the growth period was  
40 cm.  2+3 

(b) Define evaporation. Write different factors 
influencing it. 2+3 

5. (a) What are lined and unlined channels ? 
Classify open channel based on channel 
shape.  2+3 

(b) A rectangular channel has width 40 cm 
and depth of water flow in the channel is 
25 cm. Compute (i) Cross-section,  
(ii) Wetted perimeter and (iii) Hydraulic 
radius of channel. 5 

6. (a) Differentiate between recording and non-
recording raingauges. 5 
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(b) Explain arithmetic mean method of 
rainfall measurement. Write its 
limitations. 3+2 

7. (a) Explain in detail the velocity area method 
for discharge measurement. 5 

(b) Compute the discharge through a 
rectangular weir of 60 cm long with a head 
of 20 cm when there is no end contraction. 

5 

8. Write short notes on any four of the  
following :  4×2.5=10 

(i) Percolation 

(ii) Head loss 

(iii) Drainage basin 

(iv) Stream flow 

(v) Mass curve 
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      BNRI-102 

tylaHkj izca/u esa fMIyksek dk;ZØe  

(Mh- MCY;w- ,e-) 

l=kkar ijh{kk 

twu] 2023 

ch-,u-vkj-vkbZ--102 % tyfoKku ds rRo 

le; % 2 ?k.Vs     vf/dre vad % 50 

uksV % fdUgha ik¡p iz'uksa ds mÙkj nhft,A lHkh iz'uksa ds 

vad leku gSaA dSydqysVj ds iz;ksx dh vuqefr 

gSA 

 

1- (d) tyfoKku pØ vkSj mlds fofHkUu ?kVdksa  

dh LoPN vkjs[k dh lgk;rk ls O;k[;k  

dhft,A  5 

([k) vo{ksi.k ds Lo:iksa dh O;k[;k dhft,A 5 
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2- (d) o"kkZ&xgurk&vof/ vkorZrk lEcU/ dh O;k[;k 

dhft,A ty lalk/u ifj;kstukvksa esa bldk 

egRo fyf[k,A 5 

([k) ̂ty ctV* 'kCn dh O;k[;k dhft,A ty 

lUrqyu dh fofHkUu fo'ks"krk,¡ fyf[k,A 5 

3- (d) ̂lkUærk dk le;* dks ifjHkkf"kr dhft, vkSj 

bldk iw.kZ lehdj.k fyf[k,A 3 

([k) loksZPp viizokg ds vkdyu dh vkuqikfrd 

fof/ dh O;k[;k dhft, vkSj bldh vo/kj.kk,¡ 

fyf[k,A  5+2 

4- (d) [ksr ty mi;ksx dh n{krk vkSj iQly }kjk ty 

mi;ksx dh n{krk dh O;k[;k dhft,A pkoy dh 

iQly dks 12 lseh- izR;sd dh ik¡p ¯lpkb;k¡ nh 

xb± vkSj bldh 10 Vu izfr gsDVs;j iQly izkIr 

gqbZA iQlyksa dh c<+okj vof/ ds nkSjku ty dk 

{k;'khy mi;ksx 40 lseh- Fkk] rks iQly dh ty 

mi;ksx n{krk dh x.kuk dhft,A 2+3 

([k) ok"iu dks ifjHkkf"kr dhft,A bls izHkkfor djus 

okys fofHkUu ?kVd fyf[k,A 2+3 
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5- (d) dPps vkSj iDds pSuy D;k gSa \ pSuy ds 

vkdkj ds vk/kj ij [kqys pSuyksa dk oxhZdj.k 

dhft,A  2+3 

([k) fdlh pSuy dh pkSM+kbZ 40 lseh- gS vkSj pSuy esa 

ty izokg dh xgjkbZ 25 lseh- gS rks pSuy ds 

(i) vuqizLFk ifjPNsn] (ii) ue ifjeki_ vkSj  

(iii) gkbMªksfyd f=kT;k dh x.kuk dhft,A 

6- (d) fjdkW²Mx vkSj ukWu&fjdkW²Mx o"kkZekfi;ksa esa vUrj 

Li"V dhft,A 5 

([k) o"kkZ vkdyu dh vadxf.krh; ekè; fof/ dh 

O;k[;k dhft,A bldh lhek,¡ fyf[k,A 3+2 

7- (d) fuLrkj.k ekiu dh xfr {ks=kiQy fof/ dh foLrkj 

ls O;k[;k dhft,A 5 

([k) fcuk fdukjs ladqpu dh fLFkfr esa 60 lseh- 

yEch vkSj 20 ehVj 'kh"kZ okyh vk;rkdkj 

oh;j ds tfj, fuLlj.k dh x.kuk dhft,A 5 
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8- fuEufyf[kr esa ls fdUgha pkj ij laf{kIr fVIif.k;k¡ 

fyf[k, %   4×2.5=10 

(i) izos'ku 

(ii) 'kh"kZ gkfu 

(iii) tyfudklh Fkkyk 

(iv) izikr izokg 

(v) ekl oØ 
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